1285 Table Assembly

Product Images



https://jpw-catalog-qa-b2c-2.corevist.cloud/1285-table-assembly

Description

Index
Number

1

2

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

Part
Number

6292525

6292526

6292527

TS-0680041

TS-0209051

6292530

6292531

6292532

6292533

6292534

TS-0680061

6292536

6292537

TS-0209061

T5-1490041

TS-1540061

6292540

6292541

TS-0208071

6292543

6292544

6292545

T5-0561031

6292547

Description

Base

Bar, Table Raising Link
Bracket

Lock Washer

Socket Head Cap Screw
Bushing

Support

Bushing

Axis, Pivot

Screw

Flat Washer
Handwheel

Handle

Socket Head Cap Screw
Hex Cap Screw

Hex Nut

Knob

Axis, Pivot

Socket Head Cap Screw
Bar,Table Raising Link
Axis, Pivot

Screw

Hex Nut

Tube

https://jpw-catalog-qa-b2c-2.corevist.cloud/1285-table-assembly

Size

3/8"

3/8"-16x1"

172"

3/8"-16x1-1/4"

M8x25

M8

5/16"-18x1-1/4"

3/8"-16

Qty

714125


https://jpw-catalog-qa-b2c-2.corevist.cloud/1285-table-assembly

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

6292548
PJ1696-509
6292550
PJ1285-600
T5-1491041
6292551
6292552
TS-1505061

6292554

TS-081C062

TS-0680011
TS-0560071
6292558A
6292559
6292560
TS-2361101
P)1285-240
P)1285-241

T5-0680011

TS-081C022

TS-0680041
TS-0271051
TS-0271031
TS-0561011
6285917

PJ1285-249

Spring

Spring Holding Bolt

Straight Cutterhead Assembly
Helical Cutterhead Assembly
Hex Cap Screw

Infeed Table

Lip, Table

Socket Head Cap Screw
Deflector, Dust

Machine Screw, Pan Head,
Phillips

Flat Washer

Hex Nut
Outfeed Table
Lip,Table

Guard Assembly
Lock Washer
Pointer

Scale

Flat Washer

Machine Screw, Pan Head,
Phillips

Flat Washer
Socket Set Screw
Socket Set Screw
Hex Nut

Push Block

Set Screw

https://jpw-catalog-qa-b2c-2.corevist.cloud/1285-table-assembly

M10x30

M10x40

#10-24x1"

3/16"

#10-24

M10

3/16"

#10-24x3/8"

3/8"

3/8"-16x1/2"

3/8"-16x3/8"

1/4"-20

M8x35

24

714125


https://jpw-catalog-qa-b2c-2.corevist.cloud/1285-table-assembly

50 PJ1285-250
51 PJ1285-251
52 TS-1502051

Additional Information

Dust Deflector
Steel Plate

Socket Head Cap Screw

M5x20

Stock Number

Products in this set

1791241-2

https://jpw-catalog-qa-b2c-2.corevist.cloud/1285-table-assembly

714125


https://jpw-catalog-qa-b2c-2.corevist.cloud/1285-table-assembly

